312raT/OR

Ve b Hgdh AN ol fIeR J 91U

Explain the assisting steps of Preksha Meditation in detail.

&I Y TR Uh19T STef |

Highlight about the Goal management.

317971/ OR

HH TawUT | 3T T AR &2 TS hifofg|

What do you understand by emotional management. Discuss it.

35%( a‘r 1R fewuft %I'@Q/Write short notes on any Two.

(i) ¥ gf@T /Freedom for addiction
(ii) RIS 1 STEcID 3R/ Spiritual basis of Preksha Meditation
(iii) 3™ dTeAT1/Canonical councils
(iv) 9JAR P et HEISRT / Main sects of Swetambare
'
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e (gl ufa e & S Qe It e & 3 TuE g

Note : Attempt any five questions. Each question carries equal marks.

. 1. 9aH 98ER & Sied ) ey ford |

Werite an essay on life sketch of Lord Mahavira.

317971/ OR

PIATH BT IR | JuH HIfT
Explain the Jain concept of Time cycle.
U.2. 99 9d W TR 9 o

Write in detail about the Jain festivals.
317971/ OR

S I Pl A Y O ApHcT bl fALIvaTy ford|

Explain Jain culture and write the features of Jain culture.

U. 3. Jereus & SUNuSl W HhIY Sl |
Hightlight about the Upasampada of Preksha Meditation.



U, 3. TR & AMGDAT PHIGA] [IaRURT B fIRdR | FHsT= |

Explain Maslow's need Hierarchy theory in detail.
312raT/OR

faform ot 6t S faaRuRT @ T
Explain William Ouchi's theory of Z.

U. 4. URad= P TRy & BRI FHSSY |

Explain the reasons for Resistance to change.
317971/ OR
aRadH aTdTeRr § Ty % SIRA MM B IR & IS

Explain Emerging Horizons of Management in current changing
Environment.

¥. 5. oy feauft fIRaa — / Write short note on :
(37) MR Td 3P $223 / Authority and Its Sources
(¥) SdeiRg oafed td gdqdh! g

Responsibility power and Its characteristics

317971/ OR

SIRIPR TS A FT I € | ST [I9Nard T qgw ol qHeed |

What do you mean by Delegation of Authority? It's characteristics

and importance.
* 0

(i)
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Note : Attempt any five questions. Each question carries equal marks.

U 1. Y= & EURI A R d9F 82 Te f e srguRma o
fIeR 3 FHs=y |

What do you mean by Concept of Management? Explain different
concept of management in detail.

317971/ OR
T b Hged Pl faeR I 9|

Explain the significance of Management in detail.
g. 2. ot feom o aRafiYa S sadht faodwaren vd e warfaa
IR T TTh D T |

Define Corporate Planning. It's characteristics and factors affecting
Corporate Planning.

312raT/OR
[ I | 7 qd g7 S IV, I5eT W@ TEhA Dl ANy

What do you mean by Strategy formulation? Explain its
characteristics, objective and process.

(i) $.9.3./PT.0.



9. 5.

(i) &9 B FEFT R 12 URIIT / Normal rate of profit 12%.
(iii) &9 @ 2006-07- 62,000 %.; 2007-08 — 59,000 ®.; T
2008-09 - 66,000 .| /Profit for the year 2006-07 Rs.
62,000; 2007-08 Rs. 59,000 ; 2008-09 Rs. 66,000.
(iv) ¥ 2007-08 & &1 & AT 2,000 . H SR I D
arfeiRad @™ & 91 $Y 718 § 3R af 2008-09 a9 & &9
3,000 %. P 3D 3 Afferd Bl

Profit for year 2007-08 has been arrived at after writing off
abnorman loss of Rs. 2,000, and profit for year 2008-09 includes
a non-recurring income of Rs. 3000.
(v) YeTRT &1 geie ey o offiF asf &5 o ft arfifes i &
JMYR TR HHAT %I / Goodwill is to be valued on the basis of

annuity of 3 year's purchase of super profit.

317971/ OR
37T < TR W 37T 3T FHEKI 52 3Ae b e df fAftre fafer
BT ISTER0N AR qui HifeTu
What do you understand by valuation of shares? Discuss with
illustrations the different methods of valuation of shares?

"foer & Ul o THIEROT T ‘T Pl Ukt & ThiawRe H 3R deligy
Distinguish between 'Amalgmation in the nature of merger' and
Amalgmation in the nature of purchase'.
317971/ OR
Tférg fewuft foTRau—/ Write short note on-
(a) 9T I oM / Divisible Profits
(b) TH-BIN [ERINERGIN]] / Profit & loss Appropriation Account

(c) 3IRH ATHIT / Interim Dividend.
(224

(iv)
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Note : Attempt any five questions. Each question carries equal marks.

T. 1.1 3, 2004 o7 791 1. 5 100 ®. @t 15,000 10 HfRyed swomos
T R R O ST 5 oY gean AR Bl FFOT A SOE B AR
2 U T MU P hl TATIAT | T Iy P 3T H IRMT 15
yfcrerd wfferRt o fafFfia 6 18 S e R 9 v afe
Suyatey off | 31 9 2010 &1 A=W 11,40,000 %. § 99 oy 3R
SRUTGST ST ST fohaT TRITI SROTHS 9NeT p & 1 . o foTq aifiep 3ioieM
0.148324 21| Urg guf & fov SHer ufafse ST Tor @t 3§ @
FHifTT

Dinesh Ltd. issued debenture worth Rs. 15,00,000 repayable after 5
years at par. It was decided to set up a sinking fund for the purpose of
redeeming the above debenture. At the end of each year, amount was
invested in 15% securities. Which was available at any time at par.
On 31 March 2010, the investment was sold for Rs. 11,40,000 and
the debenture were redeemed. The annual contribution for Rs. 1 to
the debenture redemption fund was 0.148324. Give Journal Entries for
five years and posting in accounts.

312raT/OR
Aferg feafory fotRau— / Write short notes on-
(i) W—Gﬁﬁaﬁ / Minimum Subscription
(i) 3Tf&—3ASH / Over Subscription

(i) $.9.3./PT.0.



¥. 2 IRy sEiRgfiftsa fafics § g gufee= daes g =

9. 3.

SIHIE HATAD ¢! GUiepTei FaTeTen! Pl, 3feTepTicies HaTD! !
RS SF & 91§ 9 A1 BT 10 ufrera aRsifie umg &= &1
3TRIPR & STafs Siememfords FaTel D, uidhieti= FaTetehi Pl ARSI
Y P EIE A & A 1 Ui TIRSINS T o= 1 SR R

QUIEHTET T HaTeTen! Td ieTeplet Sateten! ol foret ot TepR ot TTiRsifiien
S ¥ gd FOT @7 g o9 20,00,000 . gl

3TYP! YOI d Seplet Faletei i o YIRSH &Y 0T el 3 |
In Rajasthan Pharmaceutical Limited there are two whole time
directors and three part-time directors. The whole-time directors are
entitled to a commission @ 10% of the profit remaining after charging
commission of the part-time directors. The part-time directors are
entitled for a commission @ 1% of the profits remaining after
charging the commission of the whole time directors.

The net profit of the company before charging any commission of
whole-time directors and part-time director is Rs. 20,00,000.

You are required to find out the total remuneration payable to the
whole time directors and part-time directors.

317971/ OR

T ¥ O T 91 3 el W &R e 87 W ol bl S
CAREIE] ?:I":ITCH'IE?}II/ Define profit prior to and after incorporation.
Explain the methods of calculate this profits.

Thigw ferg fomt el €7 T7 fore TR IR o S 272

Define Consolidated Balance-Sheet. How is it prepared?

3R / OR
1 39, 2009 &1 IM fAfiics = @ fafice @1 19,00,000 &. &
TRithet Tawd o1 fosam| Rorae Uit 10 %. atel QU7 & el 3701 &
WU H g1 11 31 T, 2009 P A1 Rl & g e goeR o -

(i)

9. 4.

On 1st April, 2009 Ram Limited acquires Shyam Limited for a
consideration of Rs. 19,00,000 to be discharged in the from of fully
paid equity shares of Rs. 10 each. The Balance-sheet of two

comparies as on 31 March, 2009 were as follows.

Balance-Sheets

A B A B
Liabilities Assets
Ltd. Ltd. Ltd. Ltd.

Sundry
Equity sharesof Rs. 10 each 20,00,000 12,50,000 48,00,000 | 29,00,000
Assets

General Reserve 7,50,000 1,50,000

Development Rebate
1,50,000 50,000
Reserve*

Export Profit Reserve 3,00,000 2,00,000
Profit & Loss Account 6,00,000 4,50,000

Sundry Liabilities 10,00,000 8,00,000

48,00,000 | 29,00,000 48,00,000 | 29,00,000

*This is a free reserve sincelst April, 1998 and may be utilised as
on ordinary Reserve.

T XM fifies 6 gt § Sie wiifeeat @ w9 vl
faerr & w7 7 gl THIeHT & IROT 9wd IM fAfcs @ g @1 3
A g0 ST T QR rafRIt R o e S v < s
3 oY 3R TR &

You are required to give necessary Journal Entries in the books of
Ram Limited when amalgmation is by way of Merger. Also prepare
the resultant balance-sheet of Ram Limited assuming that export
profit reserve of two companies are statutorily required to be
maintained for next two years.

T FEall & SMUR W WY o1 e arfiep gfcr fafdr & ameR
TR HITT-/ From the following information, compute the value of
goodwil by using annuity method-

(i) sitwa AR dsit 4,00,000 %.

Average capital employed Rs 4,00,000

(iii) $.9.3./PT.0.



U. 3. qf¥es QURT U7 A FeIfaa derfes wraerl o1 qui hifru

Describe legal provisions related to Annual General Meeting.
317971/ OR
P 3icherehl b SR el UTae bl SaTsy|

Describe the liabilities of a company auditor.

. 4. I & FH9T F T JRT 87 FET B FEI 6 faftrt o fosd
wep fafer o1 guiF hiferu

What do you mean by winding up of a company? Describe a mode
of winding up of a company.

317971/ OR

fewuft 71— /Short note on-

(i) 9% Ufda=ur/Shelf Prospectus

(i) =TTt ¥fdaxur/Red Herring prospectus

(i) FMO= ¥fdaxur/Statement in lieu of prospectus

U.5. ARG IAHET | T AR §? SIND Fha P Faed N &Y
JNep g JUTfeh 3heiur § 3R e HIfTu|

What do you mean by Internal Audit? Explain the objectives of
Internal Audit along with the difference between Internal and
Statutory Audit.

317971/ OR

P T AT B2 TR & JUR R BT B gy Hifru

What do you mean by company? Classify companies on the basis
of control. '

(i)
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frder : 9ft yeAt & SR A gt ue & I wHH €

Note: Attempt all questions. Each question carries equal marks.

U, 1. ue dmfRe & ded sdsel e e & et gren i faae
CAlNI!

Explain the importance of memorandum of Association.Describe
all the clauses of memorandum of association.

317971/ OR

P ¥ et ot fafde fRufert ot wse Hifeu)

Explain different positions of a director in the company.

U. 2. o & 3R vt i fFggar Hify

Explain different types of debentures.
317971/ OR

feoguft HfRTT- /Short note on-

(i) 3797 YHI-UH /Share Certificate

(ii) W FHAT 3797/ Sweat Equity Share
(iii) Wace /Promoter

(i) $.9.3./PT.0.
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3.00 HOURS ROLL NO. ...ccueeiiiiiiinennenennnnae

: DI U ¥ gl Hiforgl gl weAl & T i 2

Attempt any five questions. Each question carries equal marks.

sft <fg Ft faxfia a8 2009-10 & forv M o1 fFavor =7 YR 2—

The following are detales of income of Shri Ravi for the financial year 2009-10
(i)  omRer ¥ Iuffa g 9Rd & e
Accrued in America but received in India.
(i) S ¥ R | Ay feg R aRa § e s m
Profits from business in Japan but received in India
(i) <X ¥ AT 7o TRy A 31, SN S 8 Sob F S5y By & S
Income from house property in Iran deposited in a bank there

(iv) ST § w1fd aary & oy, o o) g e 3 o o) for) W)
UE IIE YRd A R 21/ Profits of a business established in

Germany, deposited in bank there. This business is controlled from India.

(v) OTfhea™ ¥ Y 9 o) Ig wrget oy wifehea # & foredt Qe
P g I & T | / Income from agriculture in Pakistan. It is all
donated to a library in Pakistan .

(vi) 9RaTd ?ﬁ A 3 / Income from agriculture in India

(vii) 2005-06 3 e fSmr o= oft faceh omar oY 1q o § R F og 78

Untaxed foreign income related to the year 2005-06 brought into India

during the previous year.

MM : 70

1,04,000

1,10,000

1,05,000

1,08,000

1,12,000

1,06,000

1,03,000

$.9.3./PT.0.



(viii) Sivs T P 7 Jgran & o YR F Ug I

Salary received in India for the services rendered in England. 2,14,000
(ix) 9Rd ¥ WH 42 / Pension received in India 17,000
Sugad fawer | #ff T & w= FuRo a¥ 2010-11 & Fat moFEr B A st AT
(3n) frard g, (@) YRV Rt g dUr (F)  AfFER R

From the above particulars calculate the total income of Shri Ravi for the assessment year
2010-11 is Shri Ravi is a -

(a) Resident (b) Not Ordinarily Resident and (c) Non Resident

317971/ OR

qUIT: A I 3T TUT 39 IR o MT § TR T &7

What is the difference between the partly exempted income and fully exampted income?

7. 2.() St A & U™ X fafies & 25 ufdaa |qar sier 21 Siudt A 39 FAT ¥ T veus & w9 3 JaRd &

(ii)

(i)

et T gt 2009-10 HT IR IRT I 3,20,000 F. g1 AT A & U DS ATGATRIG AT G
21 9aTSY fob 9= it IR T 3 forsaeh! Pt o F enfier it SR ? I sfivfr A faE s @ A &
wa forfiies & arika & ot @ aax g ?

Mr. A. Hold 25% equity shares in X Ltd. Mrs. A is employed as Finance Manager in the company.
She gets Rs. 3,20,000 as taxable salary from the company during the previous year 2009-10.
She does not have any professional qualification. Explain in whose hands salary income is
chargeble to tax. Does it make any difference if Mrs. A was employed by X Ltd. even prior to
her marriage.

#ft 9E 3 1,20,000 . 10 G 9 Bl fFT1 UiThet 6 26 SHas), 2006 B giia g R S0 34
<1 7 7 a9 H 8,000 . N & W §U | T T3 b AToT D1 3 oAbl e 3T o mf¥yed b
SRR 2

Mr. Premchand transferred Rs. 1,20,000 to his daughter-in law on 26% January, 2006 without
any consideration. She received Rs. 8,000 as interest during the previous year. State in whose
income will be included?

g Ueh 3GIR<h =] 21 b U Teh AT & k0T O g, FTg I 310 <rersil | UTH SUBR bl fdr
31 T 21 27 e Bl T 9y | 37 %0 W A 25,000 . TS & U §U, A9 [ T7 T Dl A
foperes forg aw—arw gt

Mohan is a minor child. He holds debentures of a company. Which were purchased out of gift
made by his grand father. During the previous year he gets Rs. 25,000 as interest on debentures

state in whose hands the interest on debentures will be taxed.

317971/ OR

$.93./P.T.O.



1 w fReuwforr faRav-

Write notes on the following-

(i) &9/ Depreciation

(i) I, BT G &R BT @11/ Tea, Coffee and Rubber Development Account
(iii) YR 3rerar U & o9 / Profits of Business or profession

(iv) @ gad 3Ma / Exampted Income

T HREIT Bt R—FUR asf 2010-11 ¥ Fet 3 7,00,000 &. ¢ | 7757 Samaii § ISP R <F IR
T TUFT HIfTT-

The total income of an assessee for the assessment year 2010-11 is Rs. 7,00,000. Compute
the tax payable by him/her in the following situation -

(i) afeag 52 9§ o1 L&Y BarT &l / If he is an assessee of 52 years.

(i) 3T ag 52 ay & afgen Farf wxear &1/ If she is a resident assessee of 52 years.

(iii) I 98 66 avf @1 goy Fardt FR@T &/ If he is a resident assessee of 66 years.

317971/ OR

IR eh 3 W 31T T 9 22 U 3T IR o SIRKG b AR § 3R h AT &Y egaweuman
P AT

What do you mean by casual income? Explain the provisions of the Income Tax Act in respect
of tax laibility for such income.

FR-fuRor 9§ 2011-12 & forw 4t sifehd gRT <1 31fiT @R & AT HIRTT IR 9 R gge HH IR
o1 Frufer T8 gam & faxiy avf 2010-11 & fow ST ST FR-A 3 777 TP 8-

Compute the advance tax payable by Shri Ankit for the Assessment Year 2011-12 if he has not
been assessed to tax previously. His estimated taxable income for the financial year 2010-11
is as under -

(i) FRPR UMM &R & / Interest on Government Securities 6,000

(i) UR A AT / Profit of business 71,000

(iii) ST CTCQ_rﬁ o9 / Short term Capital Gain 18,600

(iv) oicdt ¥ 31 / Income from Lottery 4,000

(v) a9 30,000 %. ufq@ig / Salaries @ Rs. 30,000 per month 3,60,000
312raT/OR

SRT ST 9 PR GISH Ao A MY FAT AHEI ¢ 7 I T H IR IR U P Agayut
Ul T T RAT HIRTY

What do you understand by ‘Pay as you earn scheme’ State clearly the important provisions of
Income Tax Act regarding it.

$.93./P.T.O.



1.

5.

T Frefeiad oM 27 RO Afed SR ARRI-

Whether the following are income? Give your answer with reasons-

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

RTYT BT 3TN SRS A SIER H 70,000 %. THS I W
Ms. Radha received Rs. 70,000 in cash from her grand mother as gift.

TRAFER BT 60,000 . ST I 19T AT PT 341 HTH FaT|
Mr. Parminder won a prize of Rs. 60,000 in Punjab state lottery.

3R ! TERY &b BRI A 45,000 . HT A9 3N g

Mr. Akram earned Rs. 45,000 from smuggling business.

sfmeft 1y 1 20 vt gd 10,000 %. & SR AR & {1 gea 31 71 2010 &t 80,000 %.
o

Smt. Preeti purchased some jewellery for Rs. 10,000, 20 years ago whose valuation on 31
March 2010 was Rs. 80,000.

B & yigsy (A @ § I9d e 3 1 g5 3 9,000 . SH AR |

Rs. 9,000 were deposited in Mr. Rahim’s Provident fund account by his employer during the

previous year.

T J aT8 Bl 30,000 %, SUR 7 & O R 7 a9 § 4197 & 6,000 . <7 I AT 7 N7 a9
4 a9 @t 8,500 . THR|

Mr. X has loaned Rs. 30,000 to Mr. Y on which interest accured during the previous year
amounting to Rs. 6,000 Y paid to X Rs. 8,500 during the previous year.

ars 7 S | 1998 ¥ 30,000 w. 0T form o1l T 9 § Sg 7 18 Y F0 o R AT

Mr. Y took a loan of Rs. 30,000 from Z in 1998. During the previous year Z freed him from the
debt.

(viii) REI % Tep AR ¥ 80,000 w. &t TR 2008 H wiat eft| 31 A/ 2010 Pt SHBT IR G

3,00,000 . AT |

A dealer of mustard seeds purchased mustard seeds for Rs. 80,000 during the year 2008
and store. Its market value as on 31st March 2010 was Rs. 3,00,000.

317971/ OR

=1 R fewforn faRau— / Write Shsort notes on-
(i) fedt g2 3 / Undisclosed Income

(if)
(i)
(iv)

i NRTE / Block period
d: aR-TURu / Self assessment

Il @ g darR / Appeals and Revisions
*



9. 3. Sitenfies FORT & T PRUN Bl Seeid D gL I P b Il Pl
A |
Explain the major causes responsible for Industrial Sickness and
measures to prevent Industrial sickness.
317971/ OR
IotepIiT i o1 e, Ieeg TUT Wt g |

Explain the meaning, objective and limitation of fiscal policy.

Y. 4. IR srfegwen R T8 it FuRl & w6t fader Bl

Explain the effects of new economic reforms on Indian ecomomy.
317971/ OR

fewuft farRau—/ Write the short notes- 3%x4=14
(37) I 3/ National Income

(¥) f9a7d Hag/ Export Promotion

(7)) Smara-f=aid i / Export-Import Policy

(g) TR / Poverty

Y. 5. 3faqed A T a9y g7 TP ST T aat Pl Soeikd hifor |

Define the meaning of Devaluation. Exaplain its objectives &
conditions also.

317971/ OR
fewuft farRau—/ Write the short notes- 3%x4=14
(31) TR wifaemea/ Business Ethics
(4) IRIRT b AT SRR / Social responsibilities of Business
(7)) SRS ggmp / IMF

(g) Wi IR 9T / Counter Trade Agreement
'

(i)
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e (gl ufa e & S Qe It e & 3 TuE g

Note : Attempt any five questions. Each question carries equal marks.

9. 1. YA e o1 87 399 A waeul ol quiF &= gU YT el
¥ DHRON P Jookd IR
Define the balance of payment. Define the forms of balance of
payment. Define the causes of balance of payment. 4+5+5=14
317971/ OR
IRT F ot @ (e sEuRms @1 Seeid wRA 8T IR Pl
YIRS &= aTet axdl T Jue |

While explaining the concept of money supply of India describe
factors affecting money supply of India.

. 2. RIS & 319 1 FHsTd 2 TRd § SRISHIRT S JhRI bl IR x|

What do you mean by unemployment? Explain the types of
unemploymentin India.

311/ OR
AR FRIITRRNT & 31T FT A & ? 3¥9h SedfT o BIRUT U STl
Bl TS |

Define the Parallel Economy and explain its causes & demerits.

(i) $.9.3./PT.0.



I T8 & IR T Tl | Tl =7 3 Ui Tep a1 ST b A
ufe It fopeieR @ Sid @1 / Actual passengers carried

were 75% of seating capacity. All the four buses ran on
all the days of the month. Each bus made one round trip

per day. Find out the cost per passenger Km.
AT kgl o1 faxf eikat & et & 319 m SHed €2 o oikal e
fafar ol gRT g T ol & SR & I BRI Dl AR

What do you understand by Reconciliation of Cost accounts and

Financial accounts? Explain the main reasons for the difference
in the net profits between cost accounts and financial accounts.

311/ OR
Teh IcdTe, gt B ¥ gd i+ e wfssamalt 9 gl ToRar 21 wfem A
¥ 10,000 $HEAT (50,000 . Ged &) S T3 T 2 5y m-
A product passes through three distinct processes to completion.

1000 units were introduced (valued at Rs. 50,000) in process A.
Following expenses were incured-

Process A Process B Process C
Machine Expenses Rs. 5,000 4,000 3,000
Labour Rs. 20,000 30,000 25,000
Direct Expenses Rs, 11,000 16,400 4,600
Normal Wastage 5% 10% 5%
Scrap Value per unit Rs. 1.00 2.00 2.50
Actual Qutput (Units) 9,000 8,000 7,700

IATEH & Tep TR W UT SIS AN TUT ST &t Pol NI Tt
g URAT W S18T 9 A &7, SR & @l T SRR

§9q @raT Ht 991501 / Prepare process account showing the cost of
output and the cost per unit at each stage of manufacture along
with Normal wastage account, Abnormal Wastage Account
Abnormal Effectives Account.

* 0
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e fpdl U ueAl & SR e gt ueAt & 3 wHH 2

Note : Attempt any five questions. Each question carries equal marks.
Y. 1. TG oRaihT A 3T T AR &7 ! Al wfafei o weeu
What doyouunderstand by Cost Accounting? Explainits differenttechniques.
311/ OR
ABC fatfiicg 4,000 gl &t HIfRyeh T aTelt 9% SFIT & | 9% H Wa T
& Az g oY 20 . TR o R ST B Ui TR 9% & foTg Teeh
& TH TS AP Bl Bl MR B AT 120 . WY MR § T YR

TN 10 frord arfies 71 FrfeiRad &t MuFT hifsTe— / ABC Ltd. produces

a product which has a monthly demand of 4,000 units. The product
requires a component X whichis purchased at Rs. 20. Forevery finished
product, one unit of component is required. The ordering cost is Rs.

120 per order and the holding cost is 10% per annum. Calculate-

(i) anfdfes ameer A=Al / Economic order quantity.

(i) IS ~JTTH TG BT MBR 4,000 THIAT BT & Al Hro bt et
JrfciRe @ w=ift? / If the minimum lot size to be supplied is

4,000 units, what is the extra cost, the company has to incure?

2. QUi & gy & fafer faRrl o go=mEu

Explain different methods of Absorption of overheads.

(i) $.9.3./PT.0.



311/ OR
T HREM T o S1ffh A,B 9T CE1 S¢ PRI aR & folt 60 M9 gue
& s €1 ftr gver R 18 . B 1 aRafds ST A gRT 62 §U¢, BgRI
40 gue TUT C GRT 28 T Bl FHATTAR S A1l Y 70T Hhifsre—

There are 3 employees A,B and C in a factory. Standard time
allowed to do a job is 60 hours. Hourly rate Rs 18 per hour. Actual
time taken A-62 hours, B-40 hours and C-28 hours. Calculate their

wages according to-

(i) I R FoIK / Time rate wages

(i) PRIAR A9 /Piece rate system

(iii) g R AT T /Rowan Premium Plan
(iv) Brexy SR\ AT / Halsey Premium Plan.

fewuft faRau- / Write note on-

(i) SYPRI @ ™efRer / Job Costing

(i) 3opT omra feRor HfF / Contract Costing
311/ OR

a¥ 2015-16 & forg e faa=or 2

Following particulars are for the year 2015-16

Cost of Material Rs. 1,50,000
Direct Wages Rs. 1,25,000
Factory Overheads Rs. 75,000
Administrative Overheads Rs. 84,000
Selling Overheads Rs. 56,000
Distribution Overhead Rs. 35,000 and Profit Rs. 1,05,000

Th PRI Pl 9¥ 2016-17 F TR AT 2 o1 fow 4,000 &.
6 Al qer 2,500 . B Ao B AR 2t A ¢ fo e
IR A R 20 Tfcrerd J s SRl T bt SuRema fit ® 124% |

(i)

I¢ SRR, Sfp faeRer SuRer & R 10 UfteR A ST @ A B
WIS SRR fRR T SIG 3 3 Tog TR a1 ST a1fds 6t g
R 15 HRIIT &1 1 U1 2| SPREHT SURSTT T Ty TR SR g e
Iy SURITT PREMT W R 3MMRT gl / A work order has to be

executed in 2016-17 which will need raw material worth Rs. 4,000
and wages Rs. 2,500. It is expected that rate of factory overhead
would go up by 20% and that of selling overhead by 12% % while the
rate of distribution overhead is expcted to go down by 10%.
Administrative overhead will remain constant. At what price the product
be sold as to earn a profit of 15% on selling price. Factory overhead is
based on direct wages and the remaining overheads on factory cost.

UHIpT @I T &7 §h AT §arsu
What is Integrated accounts? State its advantages.

311/ OR
T IR A QTR P AT o w6 R | 50 [ )2, 4 99
AT I 1 TP 9 § 967 P emar 40 A= Bl 3wid, 2015 & forg
o7 faraRuT IHhr qxTn! A forI 1 - / A transport service company

is running 4 Buses between two towns which are 50 Kms. apart.
Seating capacity of each bus is 40 passengers. The following
particulars were optained from their books for april, 2015-

Rs.
Wages of Drivers & Conductors 2,400
Salaries of office staff 1,000
Diesel Qil 10,800
Repairs & Maintenance 5,400
Tax & Insurance etc. 2,000
Depreciation 9,000
Interest & other charges 1,800

JRAfad TR S of SR T, S8 Y &mar & 75 ufaad o1 gt IRl
(iii) $.9.3./PT.0.



